October 26, 2022

Math 261
Fall 2022

Lecture 33

VerSy o\l Conditions by Relle's fhen v, and
Sind  all muwbers o thaf SoitpsSy the Cownclosiov]
Sov V) Sy codt. LM
/ay5e) A% @Y
/3) $@)> 5Cb)

Sy == — L on (0 §(0)-0
@):J9-5(@)=0

oS Polle's Thm
-S'(X): \3; *\F?)?( on EO/O‘]




October 26, 2022

S(X)—’ %C ’ Ei,%_]
ot $(x) Sd-,gg\; o\l Condihons

Show
by MVT, then S:nd oll mumbers C that
& the Conclosion oS M\)T‘\ ;
Wy S Cont. Lo, b] S-1 A3
Bys00 &8 @H . (O
’ M NOER! ,S(B):%
b —0O 9
V V2
= Tk 4.3 2cte
< < c’-3
c-+J3
C:\Yg 'S
i (1,3)

Suppose  S(D-10 , §E)>2 Sor LexeH,

Now Swal Cown YR be)?

¢ Si) s A , then S Vo Conh

$0) 3o on [14] b S0 s A ¢

S_b() \‘3 CGY\\\.
o M\ .
e O RS S-S50 o)
NOE N TR

~0 &
Sov ouv problem Y:L,ﬂ S(jlg—— S@> 2

500 -0 5 o
==

, S(wy -0 > 6




October 26, 2022

Smé» 0N S\)v\ciﬂow Sx) '$oexisls Such that
S0 -1 SR and SOE2 Sor ol

Six) <2 Vo S0 is ASS.  thew
f(x) s Conl. Sov VK.

By MV SRY-S0 ¢
) " Y5 - 5 - SNIO)
SV

SUNE P
Our  tnfevual (S Lo,2] 5 >
&

s Le
No Soch Sonckon ow

2.5 K2
io/ej Such ﬂ\&*

S(o)--1 , T2):=M , ownd \;o\\'b@
S(x)<o

=

SUFPOSQ BéStX) <5 \go-r O\“\/ah/cs O§ X/
Show Tt B <SG - $(2) £30.

- [W

SCX) (> cont- ;PS“("S |‘s<){§. => Cont
0 v A S -5

By MVT NOE o
NG ‘&(2) ) Sl(Q
-2
$@) -5 )

| 6
oot 35005 3 3®-5C) 5

6
Mo Hriply ‘9\3 G
I8 < S) ~$12)<30




what & the ismu\(esg éossi\o\e Qaveu) of the

triangle 15 Cut 0SS by QL whose hy potenvse

o tangent  To the povalola Yz HoxS?
< x-iaf - N=iaf
p. Mo
/—\ , 2
(P,4-¢) = S(P)
—_— w\ = *2}3

d-4=m (X=%y)
Y- (4-F)= -2p(x-P)

/k‘j\"\t .
Q=0 Q\ Y- Yap = -2pX A 2P
-apy N @

P = 2PX @e—x piay

Tl 2 SN Tt
) ;:o Y: -2p(0 P (Y= P e

2 ol
R GO GO I RS T
Avee: ————

’ e } ep-2 Y
- P— %iz 'i P pal ‘_i
ACP) - ap A TS e AT ACP)- + &P
op\\vv\\%e T

Sind Imollest oven,

Siad e {dimenivs o5 e S5TE) frine
oS \o\wjesif QAVen e Can be \‘f\S(Vi\fJEcX ina

Carcle with  vodios

/Xz*ﬁz:ra

bO\SQ -2X

27 N2
9= X 5| \\eithv: a*v
(?
J: Aveas %}
) - ZX'(;“)

r-\m-xww)
A= X (VT ) \)V?—f)

Ax) = 1(Jre@ +F) *1(\]——2—5 UT?YZ)]
A)- e av — m Jrix 2t 2) 2

A O ImE 2 viex m)v“

i 2 X2

Y-Z_ X?_
q(x);o

October 26, 2022



Vo ony ¢ -0
R = axt-y
P2 ) = Gt ey =
B A il

uxt =350
& 4x" - 3r9) =0

2 Sct\]am \OOﬂ\ S(o\es

-0 X “__f o3
NIL we can Verfy SO + -
Q\PP\;Cable .
B XYy’ =
WY 2 o &
h\ hi\% v*! O%) S
2X :V‘\Y':’; B—E\F * - r?—
-
T4
S\ﬂé "
Rach S.'Ae?. s B

October 26, 2022



